Sec 1-5

Solving Absolute Value Inequalities

Absolute Value Inequalities
Let k represent a positive real number.

|x| =k is equivalent to x=-korx=k
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Solve. | 2x-51|> 41
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Solve. | 2x -5 | > 41

Where are you on a number line if you are more than 41 units from zero?
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Solve. | 3x + 11 | = 53 Absolute Value Inequalities

. . Let k represent a positive real number.
Where are you on a number if you are less than 53 units from zero? ‘ ‘

@ ’ |x| =k is equivalent to —k=x=k
53 0 53 ) Solve. [3x+11| < 53
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Solve. | 3x - 17 |-58 < -1
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{%X—/7} < S Problems 10, 14, 20, 23, 41, 47, 51

Distance from zero is less than 57 units....
\ Between-57 and 57

You DON'T need to graph the solutions
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